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1. Consider the model y=X1β1+ X2β2+u.  Let b1 and b2 denote the OLS estimator of β1 and β2, respectively.  Under what conditions can we write b2= (X2’ X2)-1X2’(y- X1b1)?

[Hint: use the FW Theorem]
2. W:
C5.3
3. W:
6.7
4. W:
C6.1
5. W:
C6.9
6. W:
7.7
7. W:
C7.2
8. W:
C7.7
9.  W:
C7.12
10.  W:
8.6
11.  W: 
8.7
12.  W:
C8.2

13.  W:
C8.4

14.  W:
C8.9
In addition to written responses to the computer assignments, you must attach a copy of your computer output.  You may refer to clearly labelled items on the computer output, but your written responses to the computer assignments should be self-contained.
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